
 

 

n_trans 3 (2, 3, 3) → 4 

n_trans 3 (3, 3, 3) → 4 

n_trans 4 (2, 2, 4) → 5 

n_trans 4 (2, 4, 4) → 5 

n_trans 4 (5, 4, 4) → 5 

n_trans 4 (5, 5, 4) → 5 

n_trans 5 (2, 2, 5) → 4 

n_trans 5 (2, 5, 5) → 4 

n_trans 5 (4, 4, 4) → 4 

n_trans 5 (5, 4, 4) → 4 

n_trans 5 (5, 5, 4) → 4 

n_trans 5 (5, 5, 5) → 4 

l_trans 0 (2, 5) → 1 

l_trans 0 (5, 5) → 1 

l_trans 1 (4, 4) → 0 

l_trans 1 (4, 5) → 0 

div 1 (0, 1, 1) → 23 

div 1 (1, 1, 1) → 23 

div 2 (2, 2, 2) → 33 

com 0 (2, 2) → 1 

com 1 (3, 3) → 0 


